Example —mechanism with point to
curve constrain
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Complex planar mechanism

Known: Vg = Vg

We have equation:
Direction of vg ?7?

Instant center ?  Trajectory ?



d.vee Il d.vpe

Ve =V + Vg,

Vp =V + Ve +Vpe = Vet (Ve +Vie)

Vp =V + Ve \ Common direction



d.vge Il d.vpe

Vg =V, +Vga

Vp =Vg+ Vg

Vp =V + Vga +Vpg =V + (VBA +VPB)

VP =VA -+ VF,A \ Common direction



d.vge Il dovpg



d.vee Il d.vpe




d.vee Il d.vpe

U 1 d.vgu Il d.vpg

ABCP ~ Abcp
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a, =a, +ap, + an, + a, \
P A BA PB PA Common direction




t t
dag. Ilday;

— " — -

//////

D

. n n t
ap = ap +ag + age +ap

n n t
ap, =8, +ag, + Apg + Apy

2
V

_ _ N- n EF . o o G

ar=a, =0; ag = EF’ dpe =, dga = 8pg =



Cam pair (joint)

Velocity: v, = v, + vy

Acceleration — equivalent mechanism



Cam mechanism - velocity







Cam mechanism — equivalent mechanism (4 bar linkage)




